2025/07/12 09:07 1/6 oooo2

Joog 2

ooon

gd

00pl776

0000000 $m$ 0000 $n$ 00000000000 $v.isgoo0 $sw isjoO0O $cispg0o 0O
ggoooogo

gd

0000000000000 $cis00000nooooooooossoonoon
00000000000 $cis00noooon $1,2,4\cdots 27n,(c_i-2™{n+1}+1)$ 000
00000000000 $1,2,4\cdots 27n,(c_i-2”{n+1}+1)$ 0000000000

0000000 $O\eft\sum_{i=1}"n\log {c_i*\right)$J0 0 0 OO0 OO $O0\left(m\sum_{i=1}"n\log
{c_it\right)$[]

const int MAXM=4e4+5,MAXC= ;
int dp[MAXM|,v I MAXC],w MAXC];
int main

int n=read int(),m=read int(),cnt=0;
_for(i,0,n
int a=read int(),b=read int(),c=read int();
int j=1;j<c;j<<=
vicntl=j*a,wlcnt++=j*b;
c-=1,

vicnt|=c*a,w/cnt++]|=c*b;

_for(i,0,cnt

int j=m;j>=w(il;j--
dpljl=max(dpljl,dplj-wiill+v[i]);
enter(dpim]);
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O $\text{dp}(i,j)$ 000 $ti$ 000000 $$00000000000O0O0
$$ \text{dp}(i,j)=\max_{j-d(t_i-t_{i-1})\le k\le j+d(t_i-t {i-1})}\text{dp}(i-1,k)+b_i-\vert a_i-j\vert $$

O0000000O00ooogd $0(nm)sg

const int MAXN=15e4+5;
const LL Inf=1el8;

LL dp MAXN] ;

int que[MAXN];

int main

int n=read int(),m=read int(),d=read int(),pos=0,last=1;

m__
int a=read int(),b=read int(),t=read int()-last;
pos=!pos;

int i=1,rpos=1,head=0,tail=1;i<=n;i++
head>=tail&&que|tail | <i-1LL*t*d)tail++;
rpos<=n&&rpos<=i+1LL*t*d
head>=tail&&dp| !pos| [quelhead]| |<=dp|!pos| | rpos!)head-

que|++head |=rpos++;
dplpos| il=dp[!pos![queltail]|+b-abs(a-1i);
last+=t;
LL ans=-Inf;
_rep(i,1,n

ans=max(ans,dp/pos![i]);
enter(ans);
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00000000 $\text{dp}_i=\max_{k\le c}(\text{dp}_{i-kw}+kv)$00 $i=jw+r$0

$$ \text{dp} {jw+r}=\max_{k\le c}(\text{dp} {jw+r-kw}+kv)=\max_{k\le c}(\text{dp} {(j-k)w+r}-
(j-k)V)+jv $$

0000 $r$j0 0000 $r$00 0 $\text{dp} {aw+r}-av$ 0000000 OCOOODO0O $0(nm)$

const int MAXM=4e4+5,MAXC= ;
int dp/MAXM];

pair<int,int> que MAXM];

int main

int n=read int(),m=read int();

_for(i,0,n
int v=read int(),w=read int(),c=read int();
_for(j,0,w

m<j ;
int posl=(m-j)/w,pos2=posl,head=0,tail=1;
int k=0;pos2>=0&8k<=C;p0s2- -, k++
int t=dp|/pos2*w+j|-pos2*v;
head>=tail&&que|head].second<=t)head--;
que|++head |=make pair(pos2,t);

;posl>=0;posl--
que|tail].first>posl)tail++;
dp/posl*w+j|=max(dp/posl*w+j|,queltail].second+posl*v);
pos2< ;
int t=dpl[pos2*w+j|-pos2*v;
head>=tail&&que|head|.second<=t)head- -;
que|++head | =make pair(pos2,t);
pos2--;
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O $\text{dp}(i,x,y)$ 000000 $$ 000000000 $(xy)$ 00000000000 $x$00
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$$ \text{dp}(i,x,y)=\max_{x-dt\le j\le x}(\text{dp}(i-1,j,y)+x-j)=\max_{x-dt\le j\le
x}(\text{dp}(i-1,j,y)-})+x $$

00 $dt$ 00000000000 000000000O0O0O000OD0O0O $0(nmk)$0

const int MAXN= ;
int n,m,dp/MAXN| [MAXN]|, pos;
pair<int,int> que!MAXN];
char mp/MAXN|[MAXN;
void cal(int x,int y,int dx,int dy,int dt
int i=1,head=0,tail=1; 1<=x&&x<=n&&1<=y&&y<=m; i++, x+=dx, y+=dy
mplx!|lyl=="x"
head=0, tail=1;

’

head>=tail&&que tail|.first<i-dt)tail++;
int cur=dp[x![y!/-1i;

head>=tail&&que|head | .second<=cur)head--;
que | ++head |=make pair(i,cur);
dp/x![yl=queltail|.second+i;

int main

n=read _int(),m=read int();
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int x=read _int(),y=read int(),t=read int();

_rep(i,1,n
scanf ("%ss",mp[i/+1);
mem(dp, Oxf0O) ;
dplx|lyl=0;
t--
int l=read _int(),r=read int(),dr=read int();
dr==1) rep(i,1,m)cal(n,i,-1,0,r-1+1);
dr==2) rep(i,1,mjcal(1,1,1,0,r-1+1);
dr==3) rep(i,l,n)cal(i,m,0,-1,r-1+1);
_rep(i,l,n)cal(i,1,0,1,r-1+1);
int ans=0;
_rep(i,1,n) rep(j,1l,mans=max(ans,dplil(j]);
enter(ans);
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0 $\text{dp} i$ 0000 $[1,1$ 0000000 $s_n=\sum {i=1}*na nsf0 000000000
$$ \text{dp}_i=\max(dp_j+(s_i+i-s_j-j-L-1)"2) $$

00000 $,j$ 0000 $a_i=s_i+i,b_i=s i+i+L+1$00

$$ \text{dp}_i=\text{dp}_j+(a_i-b_j)~2=a_i~2+\text{dp}_j+b_j~2+2a_ib j $$

O $y=\text{dp} j+b j~2,x=2b j$00 0O

$$ \text{dp} i-a_i~2=y=a_ix $$

D000000000000 $ai$0$x$000000000000000000000 $0(n)$000
000000 $( 0,b 0)$0
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const int MAXN=5e4+5;
LL dp/MAXN|,a MAXN|,b MAXN]|,s MAXN|;
int q/MAXN];

double slope(int i,int j double) (dpli/+b[i/*b[i]-dp[]!-
bljl*b[j])/(2*b[1]-2*b[]]);
int main

int n=read _int(),L=read int();

b =L+1;

_rep(i,1,n
s[il=s[i-1]+read int();
alil=s[il+1i;
blil=alil+L+1;

int head=0,tail=-1;
ql++taill=0;
_rep(i,1,n
head<tail&&slope(qglhead!,qlhead+1])<ali])head++;
dplil=dpiqglhead] |+(alil-blqglhead *(alil-blqglhead ;
head<tail&&slope(q/tail|,i)<slope(qltail-1],qltaill))tail--;
g/++taill=1i;

enter(dpin]);
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